=X, with X,(0)=0
X, X,(0) = 0. Solve the above system

Xl
Given a system of equations as below X, =
X; ==X, —3X, =3%;, X;(0)=1

of equations for x1(t), X2(t), and x3(t). [90 ZEF} AR 2]

X, 0 1 o0]|x 0 1 0 X,
mREE s % (=] 0 0 1|[x, :%zAx --------- i) EhA=| 0 0 1]x=|x
X | [-1 =3 =3||x -1 -3 -3 X
| 0
|A-AI[=0=] 0 —AX 1 |[=0=>Ar=-1-1-1
-1 -3 -3-A
1 1 0|x -1
A=—-L(A-ADx,=0=| 0 1 1||x|=0=>x,=| 1
-1 -3 -2 x ~1
11 Ix 1 [-1] [—1]
A-ADx,=x,=| 0 1 1|x|=| I|=>x,=| 0
-1 =3 2| x| |[-1] | 1]
11 ofx | [-1] [—1]
(A-ADx;=x,=| 0 1 1{ix|=| 0|=x,=| 0
-1 =3 =2][%]| | 1 0
I -iary LINIvYers CCICTICH |
S=| 1 0 0},J=| 0 -1 1I|=S"'=l0 1 1
-1 1 0 0 0 -1 -1 -2 -1
dy

%\x:Sy,(l)zsaz it
y1 -1 1 0 Yi

Yo[=| 0 =1 11y,

Y3 0 0 —1]ys

Y3 =-Y;=2Y¥;= C3e_t

Yo=Y, tY;=-Y, + C3e7[ =Y,= Czeit + Czteit

ASy :>d—y:S_1ASy zz—i’:Jy

_ _ _ | _
V==Y, +Y,=—Y,+Cel +cte =y, =ce +cote t+Ec3t2et

[—C, +C,(=1-t)+c,(~1-t —%tz)]e‘t

1 -1 -1 (cl+czt+%c3t2)e‘t

x=Sy=x=| 1 0 0 (c, +ce™ = (c,+Ct+ %c;z)e“
-1 1 0 ce

[—C, +C,(1-t)+c,(t - %tz)]e‘t



